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Maths answers
Lesson 1
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o How much money does each person have?
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1a. A. £4 and 20p; B. £5 and 21p
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What amount has Mo mode? £ E

Make this amount another way.

Oraw your coins.
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Compare answers with @ partner. Is there another way?

LT

° Dora earns £10 for walking the dog.
Tick the money Dora is given.
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© count the money.
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@ 100 hos 4 siver coins and Rosie has 5 silver coins.
Show that Jack can have more money than Rosie.
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9a. A. £21 and 40p; B. £5 and 15p; C. £10

7a. Various answers, for example:

Ruby could use one £5 note, four £2 coins
and one 50p coin and one 20p coin (£13
and 70p) to buy the trousers; She could
use two £5 notes, one £2 coin, one £1
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2a. £2 and 21 P and 26p coin, two 50p coins, one 20p coin, one
10p coin and one 2p coin (£14 and 32p)
3a.B 10a. £11 and 48p ]
" o buy the tfrainers. Five different
4a. A 11a. A combinations given for each.
" 8a. Various answers, for example: One £10
I 20 . B note, one £5 note, one £2 coins, three 20p
coins and one 10p coin. If two of these
coins fall out the highest possible total left
would be £17 and 40p.
9a. Maria is correct because £10 + £5 +
Lesson 2 £2 + 50p + 20p = £17 and 70p.
S
Convert pounds and pence “ | - | @ ow many 1p coins do you need to make £1? 9 "‘P“[ﬂ“"“m" PR ———
dyaosp=£f |y |end| 5 o
- o Write the price of each item in pence.
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LSk 90 How much money doss Annls hove?, "’"" [I]' How did you count the cains? Compare with o partner. @
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€) What is 100p more? 1@0»« L caias: 82 & ioa E Q
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Wit s 1000 et ‘“’ b) Use 6 coins to make an amount that is more than €3, but
less than £4. Draw your answer. @

@ Wite coch amount n pounds and pence. @ What omount is represented in each box? (Tg
d) Circle £10 o) 274p = l and p b) 5920 = l and n @ @ @ @ @ @ @
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( anp = t and b ss0p= z and p Compare answers with o partner. @
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9b. A. 745p; B. £12 and 24p; C. £12 and

s0p 7a. Josh has £10 and 82ép = £18 and 26p.

1b. A. 455p; B. £1 and 45p; C. 11é6p

2b. 1
31;' §5 :'“g 51p 100 50 500 Eiolng. Teive: B ol e £18 and 2ép is greater than £17 and 8ép
4b, The table should be completed as seven 1p coins s0 Josh does have enough money.
follows: 11b.B,C, A 8a. Dina is correct because she has
ollows: g *
s P 12b. The table should be completed as recognised that two lots of £5 = £10 s0 £10
follows. There maybe variations where -
£ ond 3 i answers involve notes: and 810p = £18 and 10p.
£7 ond 259 7250 oo 9a. Various answers, for example: £8 and
. e Bttt | e 52p =852p; £6 and 71p = 671p; £5 and
£4 and 73p a73p ':;'::;;:;::. TR 82p = 582p; £7 dl"ld 16p =71 6p.
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n:?x"l:‘.:?!:;: £15and 17p
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Lesson 3

‘
Add money / @ oo buys two birthday cards.
- o5

@ complete the port-whole models.

@ brett hos 6 and 55p © Mo buys o cop for £6 and 50p. Q ./
Aisha hos £2 and 55p. ol i
e also buys a key ring.
How much money do they have altogether?
He spends £10 in total.
How much does the key ring cost?
Complete the sentences to show how much money Dora spends.
@[}
p + p @ Annic and Alex are having pizza for lunch. @ complete the bar models.

PONTEFRACT o

o), b)

ACADEMIES TRUST

Ebod 39

£S od A8

Dora spends [ul\d v

Tomato pizza

£5 and 40p

£ond

r.zumssp| £3 and 40p

9%

I £3 ond 99p

© complete the number sentences.

) £3 and up.(swup-(ump
b)l!ondlonoisam!iﬂu-(anﬂp
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d) £4 and 50p + €5 and 50p = und@

What do you notice?

Vegetable pizza £7 and 75p

Potato wedges  £1 and 79p
£2 and 83p

Cheese bites

@) Annie orders @ tomato pizza and cheese bites.
How much does it cost?
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She wants to buy potato wedges and o vegetable pizza.

b) Alex has £10

Does she have enough money? __1en

© cvohos g6 10 spend

What can Eva buy?

Vafoud onawers

@ Compare answers with o partner. g

7a. A+B=£12and 53p; A+ C=£11 and
87p;A+E=£6and 78p; A+ F=£11 and
10p; B+E=£10and 13p; E+ F=£8 and
70p

8a. Various answers, for example: £5 and
21p (made up of: one £5 note, four 5p

Explain your answer.

9a. £7 and 29p + £5 and 59p = £12 and

Ta. £3 and 10p + £2 and 50p = £5 and é0p, 88p, as shown on the number line below:

as shown on the number line below:
£3 and 10p +| £2 and 50p |=| £5 and 50p |

7290+

£5 and 5?p| = |£|2 and Bapl

Tp £4 and 88§
e E2andioe I { e 1 coins and one 1p coin) + £2 and 94p
[ I | (made up of four £2 coins, three 50p coins,
£3.and 10p £3 and 0p =] two 20p coins and two 2p coins) = £15
2a. £5 and 30p + £1 and 20p = £6 and 50p 10a. £9 and 98p + £4 and 56p = £14 and and 15p. 1 (odd) note and 14 (even) coins

54p

11a. Total contents of purse 1 = £13 and
62p; total contents of purse 2 = £5 and 77p
£13 and 62p + £5 and 77p = £19 and 3%
12a. A. £11 and 90p + £3 and 79p = £15
and 69p; B. £12 and 2p

3a. £3 and 20p + £1 and 40p = £4 and 80p
4a. A. £8 and 30p; B. £4 and 55p

have been used.

9a. No, this is not possible as the
difference is 20p. This can't be made with
three identical coins.

Lesson 4

—

o Complete the part-whole models.

° Complete the statements.

@) £8 and 65p - £5 and 25p = z and p
b) £8 and 65p - £5 and 65p = £ and @p
) £8 and 65p - £8 and 30p = (@ and p

Amir and Rosie use a number line to subtract £5 and 75p

° Complete the number sentences.

©) £3 and 50p - £1 undzw-Lnnap

© 7ommy hos £5 and 75p in his pocket.
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He puts £2 and 50p in his money box. 15}

b) £3- €1 musop-(mand p

Haw much is left in his pocket?

from £8
Aonis ethod €6 ond |sp-nwasn-zw p
-75p €5
{\/’_\ d) £8.ond 7p - £3 and S4p = ] 4 nod-
| A } y
3 ]ea[25 ]p t +—+ + i .
£0 £2 3 8 £10
and
25p
Rosie’s method
W2p 4£2
i
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© vihitney hos £4 ond sop 3‘; | iy i | @ complete the bar models.
She buys this pair of socks. B3 0 5 £6 8 €10 9 »
How much money does Whitney have left? ‘;;‘g
£8 and 99p £9 ond 15p
Amir and Rosie both get £2 and 25p as their answer. £8 and 96p | 3p £8 0w S3p | 62p
@) Explain each of these methods to a partner. 9
b) Whose method do you prefer? _VOrioun OnSuwes
Explain why

{2)em[5 P

7a. Jamie has £10 and 50p more than
Sarah because £17 and 49p - £6 and 99p
=£10 and 50p.

8a. Trixie has subtracted £15 and é4p - £3
and é3p incorrectly as it should equal £12
and 1p. The correct answer is: £15 and
é4p -£7 and 93p =£7 and 71p.

9a. Various answers, for example:

£13 and 35p - £7 and 29p = £6 and ép.

9a. The completed subtraction and
number line should look like this:

e N W\

10a. £6 and 87p less

11a.£16 and 92p - £11 and 85p = £5 and
7P

12a. £6 and 80p

1a. The completed number line should
look like this:

2a.£1 and 50p
3a.£3 and 10p
4a.£2 and 10p
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@ Annie buys some crayons.

o How much change would you get from a £10 note?

She pays with this money

g 3

She gets this change.

a)

G

(@ and @n

o Dani buys a milkshake.

Has Annie been given the correct amount of change?

Q

Explain your answer.
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English Answers
Lesson 1

Huan buys a hot chocolate for £2 and 60p.
He poys with a £5 note.
How much change does he get?

Billy McBane, - Paetry
Retrieval
1) Where did Billy, McBane mostly, keop. his mind? Under his hat

2.) How did the teachers search, year after year, for Billy's mind? Tried test after test

Inference:

3.) Do you think Billy McBane would he perceived of: a good, pupil? Use evidence from
the poem to support your answer. No, the teachers thought he couldn’t be. taught,
they, couldn't work: out where: his. mind. was, when. asked a question. he just shuffled

Vocahulary,

Take something,

To eat something
To clean
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o A train ticket costs £3 and 60p.
she poys with @ £5 note: A bus ticket costs £2 and 85p.

Mr Khan buys a train and a bus ticket.
She gets £2 and 60p change.

He poys with @ £10 note.

How much did the milkshake cost?
Sl . © How much change does he get?

{2 ]wa[wO]

Ms Hall has £9 to buy breakfast.
She gets £4 and 25p change.
Mrs Dean buys o T-shirt.

She pays with a £10 note.
She gets four coins in change.
Waffles

£4 and 75p Each coin is different.

Omelette @) What is the lowest possible price of the T-shirt?

£5 and 75p

Which breakfast does Ms Hall buy?

b) What is the highest possible price of the T-shirt?

Use a number line to explain your answer.

(@)

Compare answers with o partner.

Ms Hall buys the _WotLlyn for breakfast.

Lesson 2
Roman Coin Surprise For Mrs Ship Answers

When did the building work start on Mrs Ship's property?

The building work on Mrs Ship's house began in March 2014.

What had Mrs Ship been doing when she spotted the treasure?

Mrs Ship had been watching the builders dig up her lawn and was handing them cups of coffee
when she noticed something in the hole they were digging.

What did Mrs Ship do after finding the treasure?

Mrs Ship reported the find and sent the builders home.

Why did Mrs Ship sleep outside that night?

Mrs Ship slept outside because she wanted to guard the precious find.

What sort of television programmes do Mrs Ship and her daughter like to watch? What does this tellus
about thelr interests?

Mrs Ship and her daughter liked to watch archaeology television programmes on television. This
tells us that they were interested in history and archaeology.

What has this inspired Sally to do?

Sally has been inspired by this experience and she has Joined her local metal detectors group.
Can you use two adjectives to describe how Sally would have felt?

I think Sally would have felt excited and curious.

What will happen to the treasures?
The coins will go on display to the public but it is yet to be decided where.

How do you think the coins ended up in Mrs Ship's garden?
| think that because there were quite a few coins, someone hid them in a safe place and then
forgot where they had put them.

. Have you ever made an exditing discovery?

Yes. Once, a few years ago, | was digging in the back garden when | found an old glass bottle. My
dad and | did some research and it turns out it was a Victorian drinks bottle that had been
throw away.



he Once Upon A Times
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WICKED WOLF GETS HIS JUST DESSERTS

Yesterday afterncon, a young girl and her grandmother miraculously survived a
run-in with a ravenous wolf. Little Red Riding Hood was visiting her grandmother’s
cottage in the forest when both were swallowed alive by the creature. However, luck
was on their side, as a local woodcutter was on hand to cut them free.

At approximately 1:15 p.m. on 21* February, that they saw
, a young girl aged 10, skip into the forest carrying a basket of cupcakes.
The path from the village through the forest is a well-trodden route, used by everyone

from school children to village elders. (12)
said, "I've used that path hundreds of times and it's always seemed perfectly
safe.” (35), who runs the village orphanage, , "Of course, I

warn the children not to approach any gingerbread houses. But avoid the woods
entirely? Nonsense.”

that she was nearly at her granny's cottage when she was
by a wolf posing as a polite gentleman. She reports that the wolf acted

kindly at first, and even pointed out a shortcut to her granny’s cottage.
Miss Riding Hood explained that from the moment she arrived at

her granny’s cottage, she could sense that something was not quite right.

Once inside, Riding Hood found her granny in her nightgown, tucked up in bed,

apparently ill
Red soon realised that the person
she was not her granny at all,
but the wolf in disguise.

Miss Riding Hood that both she and her
granny were gobbled whole by the cunning beast. "I
found Granny alive, but very uncomfortable, inside

the wolf’s stomach,” she Mr B.B. Wolf would not ‘paws’ to sommant

After ten traumatic minutes inside the wolf, the pair were freed by an axe-wielding
woodcutter.

“As soon as I saw the wolf on the bed, I knew that something was wrong,” the
heroic woodcutter. "You didn't have to be a genius to work out where Granny and
Red had ended up. He'd had the old lady for starters and her granddaughter for the

main course.”

Miss Riding Hood and her grandmother are now staying with Miss Riding Hood's
mother in the village, where they are said to be recovering well. Meanwhile, Mayor
Gretel has announced plans for an investigation into the cunning, welfish activity in
Fairytale Forest. If she could our beloved forest be lost forever?

Pinocchio, Junior Correspondent
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Lesson 4 Task 1: Subordinating Conjunctions Answers
Underline the subordinating conjunction in each sentence.

1. While the leaves on the trees flushed into their autumn finery, Guster's green summer
scales slowly changed to copper.

2. Guster knew that it couldn’t be natural.
3. His pointed ears twitched, swivelling until they heard the chatter of human voices.
4. As Redbreath closed her eyes and lost herself in the past, Guster had a brilliant idea.

5. He could still hear the clangs and crashes of Redbreath’s search g5 he clambered onto his
launching rock.

Add an appropriate subordinating conjunction into each sent Don't forget to read your
sentence back to check that it makes sense! Use the word bank to help you.

6. This was the way that Redbreath always sat when she was about to tell a tale of the old
times.

7. When the lake was much smaller, this island had been the moot hill.
8. As Guster watched, he realised they had already changed the shape of the land.
9. Once it had cleared a path to the cave, it rumbled away.

10. Even though it was night time, the museum was completely packed.

Lesson 5 Task 1:

Speech Direct or Indirect Speech?
William asked if he could have a turn on the slide. Indirect

“It's my turn next,” Shiya shouted. Direct

Dad said that the children should stop arguing. Indirect

Kylie mentioned that the swings were free. Indirect

“I love the park,” squealed Emir. Direct

Mum told the children that it was time to go home. Indirect

Task 2:
Add the correct punctuation to these direct speech sentences.

1. “Look up at the sky!” screamed the boy, “I just saw the most

2. "It had ginormous wings and wus the size of a double decker bus,”

3. "I couldn't believe my eyes. I thought I wus dreaming!” explained the
shocked old lady.



Reading for productivity Answers

DT answers

Readi P ity in DT

Key vocahulary: linkages, levers, mechanism, input, output,
Julcrum

Retrieval

1.) What is a linkage? A linkage is @ mechanism made by,

2.) How do you make a linkage? To connect the levers together to
make o linkage you can use any type of fastening which allows
Jree movement, for example screws, pins, paper fasteners, pop
rivets etc.

3.) What is the difference hetween a lever and linkage? A linkage
connects levers together whereas a lever is a separate part of the

linkage that rotates on a point.

Inference

4.) Why and how do youw think levers were used, throughout
ancient times? To move ohjects including rocks and food.
Vocahulary

5.) What is @ ‘ulcrum? A fixed, point that a lever rotates around.

Geography answers

Reading for Productivity - Geogruphy - Vegetation
Belts

Retrieval

1. List two types of vegetation helts. Forest,
grussland, tundro, desert and ice sheet.

2. Which vegetation helt has little or no vegetation?
Ice sheets.

3. Which vegetation helt are flat and open weas?
Grussland

4. What type of plants grow in the tundra? Shrubs,
grusses and mosses.

Vocahulary

5. Find and copy a word, that means the same as

rainfall. Precipitation.

Science answers

PSHCE answers
Questions

1) What will you overcome by, being, brave? Challenges

2) Find and copy one word that means ‘across the country.
LTl

3) Who is the patron of, Place2Be? The Duchess of Cambridge
4) True or false?

True False
If you need to talk about your mental health, you should talk .
to an adult whom you trust.
Place2Be started Children’s Mental Health Week in 2014. (@]
Children's Mental Health Week is a celebration of intelligence. (@]
Mental health means how people feel about different things in Y
their life, such as relationships, health, work and themselves.

5) Give one tip for a child to improve their emational wellheing.
Any of the 3 tips given in the last paragraph.
Spanish answers

1. Name a festival that happens in the Spring?
La Feriaw de Abril or Las Fallas.

2. When does the Tomatina take place?
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Reading for Productivity - Magnets,

Key vocabulary: magnetic, magnetic force, magnetic field,
attract, repel nickel, cobalt

Retrieval

1. What is a magnetic field? The magnetic force swrounding
a magnet.

2. What happens i the same pole of two magnets are placed
near each other? They repel / push away from each, other.
3. Earth has its own magnetic field. What does this keep us
safe from? This keeps us safe from space radiation and
particles.

4. True or false... For magnetism to ocowr an object can be
Jar wway from the magnet. False, the magnet must be close
enough to the ohject so it can be in its magnet field.

Vocahulary

5. “Magnets can attruct some ohjects and repel others” What
does the word repel mean? To push away an ohject

6. Not all objects are affected by magnets. What do we call
these ohjects? Non-magnetic

3. Which camival is considered to he the second most famous
carnival in the world?

The Camival of Santa Cruz de Tenerife.

4. How do you think people hecome the carmival queen?

Smiling a lot, having heautiful hair and having a nice outfit.




